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YT ] —————————— IRRIce afd At Feft 3R
L¥gfis 2. AR 3.9 4. Areicaree Jeft
Iax: 1.O 2.0 3.0 4.0
HTSH68 ol BIVTR AT ATelT G&ral eaTel!. dobe) o ahvra.

fAfeeg Tor geacht ARy AT

3. - 8 dl
TR Soq HepTIRIC BVl  DIVIAT Sroll WUTIRUITE IGTERUT 31Tg ?

Lighting of electric bulb is the example of conversion of :

l.ﬁ@ﬁ% BTl Srotcl [Electric energy into light energy]

2. fagd Foia €411 Ioid [Electric energy into sound energy]

3. fISyd ot I IHoid [Electric energy into chemical energy]
4. T ot Irc\Jc;gcl Soid [Light energy into eletric energy]

T gR AT <A1 o BIIUITATS! ATIRAT IR bl —

Sharpened knife is used to cut the fruits because ----------

1. P e5TthosTeR BT GTd [Smaller area less pressure]

2. ST AT BT ST QI [Greater area greater pressure]

3. U §FhBIAR SR GIF [Smaller area greater pressure]
4, ST §haSTaR BH! ST [Greater area lesser pressure]

-------------- is not an artificial satellite.
1.3fgu [Rohini] 2. 9T¥PN [Bhaskar] 3. 3MRIYE [Aryabhatta] 4.W[Uranus]

——————— 2 UTUIgS! JTUIRATe ! SRAATa! UTugT<d GEHITER FoR SaUdTH AR,

------------- is useful in submarine for keeping watch on things above even while the submarine is below
the surface of the sea.

1. aRgeff [Periscope] 2. Jg&mcefe I3 [Microscope]
3. gard gereeie I3 [Compound microscopel] 4. 9gUGefd I [Calidoscope]
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9.5

9.6

9.7

9.8

9.9

9. 10

9. 11

9.12

.13

—————— T+ 3 T TIR PR

................... produce their own food.
1. SUTGSH [Producer] 2. 2MPIERT [Vegetarians] 3. FRITERT [Nonvegetarians] 4. fdeicad [Decomposers]

ARgeHe ————————- T ST ATIRATd

Solar cell have --------------- nonmetal as its component

1. Rafeta [Silica] 2. Rifetdi [Silicon] 3. BINHRH [Phosphorus] 4.9 [Sulphur]
fasToteeht - — ——————- 3ITERTT A

Virus have ------------- coataround it

1. 9feM [Protein] 2. %aIgdH [Carbohydrate] 3.9cgellSt [Cellulose] 4.9 [Fat]
———————— HIEREEIPARDIEREAGIN]

----------------- control all functions of the cell.

1. TgenfOreT [Mitochondria] ~ 2.%Ge [Nucleus] 3. Rfddat [Vacuole] 4. defifireciiant [Cell wall]

WTefiet uiATae- HY I o 3eT.

Identify me from the following description.

i) H TreTet UgTe foha FHeamenradt farcisirer f&aa. [You can see me on horizon at sunset/sunrise]
ii) HT Tt 9 AATal [| do not have moon]

ii) Y T Al Yeepg ufeemes uRae @=dl [| rotate from east to west]

1. 94 [Mercury] 2.7 [Jupiter] 3. W [Uranus] 4.9¢h [Venus]
DIV TETe TR ATIH Hafd HHT 3R ?

Which planet have least average temperature?

1. g¢h [Venus] 2.q92|°r [Earth] 3.94 [Mercury] 4.3?3?? [Uranus]
AT WTetTeTdeh! ot Sifde fafderd o,

Which of the following do you think is biological diversity?
1. AT SJe5eHed 3RAUTRT 9Re [Difference between twins of human]

2. /g ATI0T HIheMEY 3RAUIRT BRap [Difference between human and monkey]

3. 979 Il g gresd e g Jiciiel e [Difference between forest plant and desert plant]
4. 9101 5 [All of the above]
Stafafiedr & Agccayquf 31Tg HRT Hhi—

Biodiversity isimportant because it -----------------
i) STOTT TRSTT YFTe [fulfills animal needs]

if) TRERRIT JTETTRITT 3o [sustains ecosystem]

iii) Hleziqefe g Aead [serves aesthetic purpose]

1. %erd (i) 3Tfor (i) [i &ii only] 2. e (i) mfor (i) [i &iii only]
3. o (if) ofor (il fii &diionly] 4. (i), (iii) 3" (iii) [, i il
GTeficteh! PIVIT ARV SETAT SUTSTHT SGTERT 378 ?

Which of the following is an application of atmospheric pressure?

1. $919M [Injection] 2. QI foarat [Spray pump used during Holi]
3.3® SIWR [Ink dropper] 4. TP T [All of the above]
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9. 14

9. 15

9. 16

9. 17

9. 18

9. 19

9.20

9.21

N | 5| SR MK GRAETSTHION SHTH0T Gofeh HTded TR W, X, Y, Zg 3T —~ 4T 3Rciied.

(W Xl [Y Z] Whenwe cutmagnet as shown in the figure, then W, X, Y, Z poles would be --
------- respectively.
1.NSNS 2.SNSN 3.SNNS 4.NSSN

Teiie] TRl JTeehdl TUTHT.

Consider the following statements for their correctness :

i) ATCH 8 SFHIRA SRI AT G99 8T e+ ~JEuaeT 3R,
[Protonis positively charged particle of same magnitude as of neutron]
ii) BTAZISTTT hgehTHEY] ~g T AN

[Hydrogen nucleus does not have neutron]
1. (i) SRR, (ii) I [i- True , ii - False] 2. (i) SRR, (i) SRR [i - True, ii - True]

3. () g, (i) RIS [i- False , ii - True] 4.(iygs®, (i) IP [i- False , ii - False]
A=15,Z=8TR Soac ! AT ————

A=15,7Z=8then number of electrons is ------------
1.8 2.7 3.15 4.9

AT ehi et YebTd AT JATcoe].

Find incorrect statement aboutisotopes?
1. AT ATt IR ART 3T, [They have equal number of protons]

2. T SAAareI-Td! AT ART 3RTA. [They have equal number of electrons]

3. T =Gl AT ARG 3. [They have equal number of neutrons]

4. T JJhHTeh ARET 3. [They have equal atomic number]

WTetlel J1fEhIaT TR 3osvdT.

Identify the type of the given chemical reaction
AB+C —> AC+B
1. T 3rfrfopa [Combination reaction] 2. 3qereH ITfHfehaT [Decomposition reaction]

3. faermu= 1ffehaT [Displacement reaction] 4. 3TTEASIHRUT JATIOT &9UT 371HTShAT [Oxidation & reduction]
A e g1 - ————— SIH

Raney Nickel is --------------

1. 31ifease [Oxident] 2. IR [Catalyst]

3. farerea [Decomposer] 4. AU AT [None of the above]

Gl TS TS ITERUT DIVI 3MTR 2
Which of the following is an example of chemical change?

1. 9ToTT grsdterae [Evaporation of water] 2. AR YToATe foRErssul [Sugar dissolves in water]
3.3 37990 [Milk goes sour] 4. Al TRY eReaR fadesur [Butter melts on warm toast]

H piur ?
Whoam |?
i) TeAT QI ffcerenT 31T [| have twowall's] i) AT Uefier Sotfdsg TRUIT. [ am powerhouse of cell]

1. GqepiorenT [Mitochondria] 2. Rfedat [Vacuole] 3. TesiiUs [Golgi body] 4.5 [Nucleus]
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9.22

9.23

Y.24

9.25

9.26

9.27

9.28

9.29

9.30

ETefietidh PIorcht St Fehret armg 2
Which of the following is an incorrect pair.

1. geuciivefl — gRdga [Plantcell - Chlorophyll] 2. 3roft geft — efififcent [Animal cell - Cellwall]
3. Meviifds - fdex A13ad [Golgi Body - Stores enzyme] 4. Rfadaadt — Maadt [Vacuole - Empty space]

1. %de [Fungus] 2. f4u1 [Virus] 3. 37feSHig [Protozoa] 4. SiidTU [Bacterial
~fet wfereg o —————- i+t enerett

Anti Rabies vaccin is discovered by --------------

1. AT 3T S [Salk and Sabin] 2.T8d8 SR [Edward Jenner]

3.3 UTeR [Louis Pasteur] 4. IAFS FAfHT [Alexander Flemming]

TTefIeT STeTuTIaRe+T T el

Identify disease from following symptoms

i) SIeTTe [Diarrhoeal]

ii) S T [Headachel]

iii) 3RTfI JacITaT A9 A [Fever for definite period]
iv) oTTel YRad I3d [Rose coloured rashes]

1. fIs¥<aR [Typhoid] 2. ®IeRT [Cholera] 3. %4 [Rabies] 4, IO [Chicken pox]
TR URTACTHE TUTe T, Ff¥enT 3rmfor uRTafefd fpor — ———— - YT 3TRAC.
Inreflection of light, Incident ray, Normal and reflected rays are in ----------- plane.

1. U [same] 2.3 [two] 3. [three] 4. 5 [different]

o} p1oT 3T ?

Whoam |?

i) 98T 918 el A, [Easily transported]

ii) ST DIVTTE! T uaTef fRieeieh 8 TgT. [Burn without residue]

iii) ST TR foiroT o 3. [Burning can be easily controlled]

1. PIes<T [Coal] 2. @R [Wood] 3.9 [Butane] 4,921 [Petrol]
JRfESIA gl —————— ol T 31

Biodiesel is -------------- source of energy.

1. 3YRUTRS [nonconventional energy] 2. AIPRUTEH [renewable energy]

3. YRUTR [conventional energy] 4. 9917 19 2 [option 1 & 2]

fareIeT TR agel feen gt faegdyergrar - - - —-- 3.

The direction of flow of electric charge is ------- to direction of electric current.

1. foRoge [opposite] 2.9 [same] 3. 31GHICR [antiparallel] 4. 31 HId [random]
PIRST 3TVT ciehetel fIRIAeCTa draal qrel AT f31eh T 8 3FshH ————- , ———— ¢d 3R,
Indry cell and Leclanche cell carbon rod and zinc metal act as -------- R poles respectively.
1. g, 20T [positive, negative] 2. 7801, 99 [negative, positive]

3.2RUT, 20T [negative, negative] 4.9, Y [positive, positive]
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9.31

9.32

9.33

9. 34

9.35

9.36

Y. 37

9. 38

GTetle] gTerR AT SFehcdTo! Tl

Consider following statements for their correctness
i)mm"ma? 2 PIUATE! AT 81l [Evaporation takes place at any temperature.]

ii) TS g USYRTIRATe!! ©€d. [Evaporation takes place at subsurface level.]
1. (i) SRR, (ii) I [i- True , ii - False] 2. ()9, (ii) SRR [i- False, ii - True]
3. () SRR, (ii) SISR [i - True,, ii - True] 4. ()9, (i) Ib [i- False , ii - False]

el difeareaT e FARYeor deat greTell —— - —— - Torere fEAUMR A1t
When you observe copper metal you will not find --------------

1. Tp1eh! [luster] 2. HfSUrAT [hardness]

3. ATGHIT [sonority] 4. &g [brittleness]

Gletlel gTerR) AT SIS Ul

Consider following statements for their correctness
i) OTRT &7 1] 3178 90T T &9 31Aal. [Mercury is a metal but ts liquid]

if) STTTET 8T ST 31T 3TTOT Al G 3Taveid 3R, [Bromine is nonmetal and itis liquid]
1. () SRR, (ii) I [i- True , ii - False] 2. ()9, (ii) SR [i- False, ii - True]
3. ()RR, (i) SISR [i- True,, ii - True] 4.(i)ga, (i) IP [i- False, ii - False]
chTe=T hRICTT YehaT Y hIUTCT ?

Incorrectabout carbonis :
1. 31 [Nonmetal]

2. ¢ gl 81 U B 31a! [Main constituent of plant produce]
3. YT 2 3R [Valency is 2]
4. 3FIhHTED 6 3Tl [Atomic number is 6]

TRINTENGS T PTa SRIST TS S MfHT R TR BIVIRT UGTef Siesegd IRRIfeh 31foha guf &,

Consider laboratory preparation of CO,& complete the given chemical reaction.

CaCO,+2HCI-CaCl, + ---------- +Co,
1.H,0 2.H,0, 3.Ca0 4.CaOH

Qetietteh! PIVAT IWITRM dF Teet IR fHesaet 3mad ?

Which family of the following is awarded by three Nobel Prizes?
1.3l H.&@ M9 [Dr. C.V. Raman] 2.3l PeuT grael [Dr. Kalpana Chawala]

3. 915 9G¥t [Madam Curie] 4. ST, gRIfdg WGRIOT [Dr. Hargobind Khuranal]
e gTRalfyes faord ufgel TR 2mRTsT BT ?

Who is the first Indian ‘Nobel Prize’ winner scientist?

1. S7. ¥1.<gt. M [Dr. C.V. Raman] 2.3l PeUHT Iraell [Dr. Kalpana Chawala]
3.31. TS HaA™ [Dr.A.P.J. Kalam] 4. 31, {aspH ARTATS [Dr. Vikram Sarabhai]
forr 1 (HRewIe ) fagend Sivft Jisar ?

Big Bang theory was proposed by ----------

1. MSTRCISA [Einestein] 2.7g¢ [Newton]

3. 1. g 977 [Dr. Homi Bhabhal] 4. feew gifdTT [Stephen Hawking |

(S)
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9.39

9. 40

9.41

g.42

9.43

Y. 44

9. 45

T TeTUhT SIUTT ARSI HRATS P TIG Yo ?

Which of the following scientist was president of India?
1. ST, IIoig YNTG [Dr. Rajendra Prasad] 2. 2[. Y1 g1aeT [Dr. Kalpana Chawalal

3.31. TH.S. A™ [Dr.A.P.J. Kalam] 4. 31, {IepH ARTTS [Dr. Vikram Sarabhai]
1. DU Tl T IoTd fdGaTdiSIqd - —————— JIITebIcieT U foseet.

Kalpana chawala obtained a degree in ------- engineering from Punjab University.
1. fIed [electrical] 2. 391 [Aeronautical] 3. J1f® [mechanical] 4. T [computer]

SIS SRTET 18 FeIT ———————~— T BN BIl,

Depletion of Ozone layer causes ----------- cancer.
1.35d [Liver] 2. 994 [Lung] 3. <91 [Skin] 4.3ad [Blood]

TRATS TG —1 Wil PO AT eI e o 3Tet ?
India’s first mission to moon ‘Chandrayaan-I’ was launched from the -------- site.

1.25W1E [Hydrabad] 2. sfigdidicer [ShriHarikotta] 3.9I%R0T [Pokharan] 4. &9 [Hasan]
IAHI U JeTedetel STTugTef WiefieTieh! vl Heeh giud gid ?

Food wrapped in newspaper is likely to get contaminated with.
1. AGMF3H [Aluminium] 2.5 [Lead] 3. 7RIS [Iron] 4. q=f313m [Magnesium]

Safafaear feT @iefiertd eureaT feasefl JoRT hett Sirar ?

Biodiversity day is celebrated on---
1. 22 FMaR 227 January] 2. 22Tt [227 April]  3.227[22"May]  4.22 f$:isR [22™ December]

TeA T IUTT ATRASTT ST Hag A2 ST ?
Who amongst the following scientiests born in Mumbai?
1. 31 @t W [Dr. C.V. Raman] 2.3l faspH RS [Dr. Vikram Sarabhai]

3. 3T 41 917 [Dr. Homi Bhabha] 4. 3. gIdg GRIOT [Dr. Hargobinda Khurana]

ForQ.46 & 47

Y. 46

9. 47

yalet UeATd UfdedT d SA=IT Uarl ST Fee 37Te. TRTel foRa=aT g <ieT ugie UbHebiel e 3712, 8 el
U TRATIETT STRIT AUIRT A1 Ff e,

The first pair of the terms bear a certain relationship. The same relationship is required to be found in
the other pairin which one term is missing. Find the term.

11:132::22::7
1.242 2.232 3.506 4.605
ZT:AG::SM:?
1.1IH 2.HM 3.LF 4.HN

ForQ.48to 50

9. 48

TR SR PIUTC 3Teeh T ISt ?
Which number can replace the question mark perfectly.

17138|80 1.52 2.40

12128|60
111260 2 3.60 4.56

~
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9. 49 " 6 9
13258 1(6)7  5(2)4
6 2 8
1.4 2.9 3.1 4.0
gs0 (3D ARy
- Gy g e
1.117 2.107 3.97 4.121
q.51  G&iel ueId fSeledn Afeidd el gentd UG i,
Find the incorrect termin the given sequence.
42,72,32,156,6,20
1.6 2.156 3.32 4.20
¥.52  UeIRErAT STRMATGS! 31gd v Q.
Find the term that can replace the question mark from the given alternatives.
43:144::42:7
1.124 2.0 3.64 4.143
¥.53 U Aidhicd 9N STONE & 216 RUNOD 31T foifgdTd a8 DOOR &7 2eg &l fofglet ?
In a symbolical language STONE is written as RUNOD. Then how the word DOOR will be written in the
same language?
1.CPNS 2.CPPS 3.CNNS 4.ENPQ
T.54 IO ST 29 BhgdRT 1980 WTett ST, TR thgat 2018 Tfd T fohcl! aTaiias AoR dhel SiTciied ?
Ganesh was born on February 29 in the year 1980. How many his birth-days will be celebrated upto
February 20187
1.38 2.37 3.10 4.9
U.55 O A RQURT SoRd TTeiva GRdTd dhetl. 16 HieR dlefedmoR ot So1ed 1Sfell deset. e af 12 e’
refelt 7o B fagureft aigerett. T= A 37for B 7efer fp1 aiaR febeft a11for B &1 A=ar vt f&ietr 317 2
Tanaya started walking from point A towards north. After walking 16 meters she turned to right and
walked 12 meters and reached point B. What is the minimum distance between A and B and to which
directionis B of A?
1. 84tex, AT [8 meters, South west] 2. 241eR, MY [24 meters, South east]
3.20Hex, $9T=7 [20 meters, North east] 4. 18 HIex, 94T [18 meters, North west]
ForQ.56 & 57
JSteT AEIMTIoTehT guf .
Complete the number series.
9.56  23,57,1113,1719,2329,7
1.3133 2.3137 3.3135 4.3741
v.57 7,26,63,7,215
1.135 2.117 3.124 4.144
ForQ. 58 & 59
TR S YA a1 AT eeT.
Find the missing number.
112(3[5]11]16
9. 58 2151102 [1al17] 1-16 2.15 3.18 4.12

112|3|5[11]16

~
~
~



9. 59

9. 60

9. 61

9.62

8 5 4

1.22 2.26 3.16 4.18

Qlefiel 87 Mgheard fRET e D =T faRege I8HTTIER AUTR 31&R Ao,

Observe the cubes and find out the letter that will be on the opposite surface of D.
A B D E ]

F

F E c

D A Cc B

1.E 2.C 3.B 4.A
et AT I Hee GeffIumd ammepelt e,

Which of the following diagram correctly represents.

HRd, HEIRTY, YddHIG [India, Maharashtra, Yavatmal]

SN — TS + , + TgUISl x |, + TgUISl — , X FgUISt + , R Wletlefdeh! Blurd faer I 31mg ?
If — means =, + means x, = means —, x means + , then which of the following equation is correct?

1.36-12x6+3+4=60 2.43x7+5+4-8=25
3.52+4+5%x8-2=36 4.36x4-12+5+3=420

ForQ.63to 65

9. 63

Y. 64

9. 65

9. 66

.67

GTefiet TeAmed Herfmgredt S fSetedn wafaigy ama wafa faer.

Choose the correct option from the given alternatives
ABCDE, FGHIJ,KLMNO, PQRST, UVWXYZ

A,D,I,P,?
1.S 2.V Y 4.X

AZ,GT,MN,SH,?
1.TS 2.Z2B 3.KP 4.KF

SREG=4,IL=9TdRLM="?
IfEG=4,IL=9thenLM =7
1.25 2.16 3.24 4.1

ThT AT he 200 TS oAldoiell JMgd i1 7 ani a1 A feoiell 3mgd. SR ufgedr rerern

Wednesday 719 fielel 3 R QA 50 T SIS A1d B 3l ?

There are 200 trees on a road side. Those are given the names of the 7 days sequentially. If the name
of the first tree is Wednesday, what will be the name of 50" tree from the end?

1. FT5IR [Tuesday] 2. IehaR [Friday]
3. 9IMaR [Saturday] 4.3fA9R [Sunday]

3:30 IToId] ISATBIAT S hIcdHed fhdt 79T I gl ?

Angle between the hour hand and minute hand at 3:30 will be ----
1.15° 2.90° 3.75° 4.70°

~
o0
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For Q.68 & 69

qeiel AT fRIE0T oot faarReiedT TeATe Sccy qataTed e,

Observe the tower and find the answer from the given options.

9. 68 1A2 789F3:121110H6 :: EFG10N: ?
38 4C5 D6 1.121110M  2.1H548 3.IHGOL 4.1HG4B
E FG H I : . o
9. 69 28 9 10 1112 B4GFE : D5GHI :: EFOML: ~
J K LM NOP 1.IH10NO  2.PON10G 3.IHG10ON  4.IH10MN
T.70  UHT Hichfcrd NG SR 3546827 8 T 2567483 31eft fotfeara 7584236 & wweam 3546827 1aft forfgara
TR T NN 8356742 & e def} forgret 2
In a certain language, numbers are written symbolically. If 3546827 is written as 2567483, 7584236 is
written as 3546827 then in thatlanguage, how will be written the number 8356742.
1.2478356 2.4362578 3.4365278 4.4236578
q.71 TefteT 3Mmaueiid fanelt BrepioT 3mmee 2
How many triangles are there in the following figure?
1.16 2.17 3.14 4.15
¥.72 U Aidhiad 9¥d VICTORY 8 YLFWRUB 3R foffgard @k SUCCESS & & Aidhices TN e foTgret ?
IfVICTORY is coded as YLFWRUB, how can SUCCESS be coded?
1.VYEEHVV 2.VYEFIVV 3. UXFFHVV 4. VXEEIVV
W73 MY TR RRove 75 Rt Uiy a et @ Grat TRe 50 fohH HiieRy T o JATedt TR <arE TgRun
TaATci el ARRARY T faheft ?
Ramesh went to Shirur from Nagar by 75 km per hour and returned to Nagar by 50 km per hour. What is
his average speed of the total journey?
1.90 km/hr 2.62.5km/hr 3.60km/hr 4.65km/hr
ForQ.74&75
Qeiiel HTfgel ressiigde ara g ferReiear e I G,
Study the information given below and answer the questions.
TSI T T 37 3R, [In a class there are five friends]
i)Ad B g fthdre T Hedlal WasdId. [Aand B play Cricket and Football]
ii) CT B Bedld d glehl Wawdrd. [C and B play Football and Hockey]
iii) DT AR Hage! g fohdic WesdTd. [D and A play Kabaddi and Cricket]
iv) Ed B @I-@! g glefidiel WasdTd. [E and B play Kho-Kho and Hollyball]
Y. 74  AIid TR Wb DIV Wbel ?
Who among the friends plays the maximum number of game?
1.C 2.D 3.A 4.B
U.75 fohhe GRUR i pivrq ?

Who amongest the friends play Cricket?
1.A,B&C 2.A,C&D 3.A,B&D 4.A,E&D

ats als als afs als ats
R AR

(a1 geTuferdt IR T (Answer Key) ¢/4 fGad WWW.drevramanexam.com 37 JeRI5caR U glscl)




